LET's cHECK 4 & REVISION 2 - DOCRET

You are going to do the let's check exercises in your book and in the workbook. You have to do 21 of the
exercises, but which order you choose is up to youl After you've finished an exercise, use the solutions to
correct with your partner. Then fill in this chart:

UL number of number of
type Name of the exercise done? correct . HEEEEELP!!!!
mistakes blanks
answers
! '\\'h 71/1a Word power use vocab
) 71/1b Word power use vocab
%,\ 72/1a Using suitable words Work with your partner and decide
- together!
| .\\'u 71/2 Airport situations 612
=N 71/3 C-Test
) (copy the WHOLE fextl)
4 72/2a Word power: Watch out!
i \\'I) (just write down the solutions) use vocab
- 72/2b Word power: false friends
F \\’l; (your partner corrects itl) use vocab
"N 72/3 Word power: Adjectives and
), nouns (write down adjective + number)
= 73/4b Girls and boys in Scotland correction
LX) (write down number + solution) on p.186
QX 73/5 Visitors to the Pilgrim Village correction
), (write down number + solution) on p.186
é '\\," WB 52/2 Say it with gerunds 612
& '\\," WB 54/1a Since or for Doctor 6
WB 54/2a Forms of the present
NN
X perfect Doctor G
=N WB 55/3 Present per"fecT simple or Doctor G
L= progressive
& '\\," WB 55/4 Some or any? Doctor 6
QX 74/6 News from Susie in Barre
), (write number + “a/an/the/-")
- 74/7a Visiting other countries
i \\'h (write down number + solution) 612 + 613
= 74/7b Visiting other countries
), (write full sentences)
QX 75/10 Mixed bag
), (write down number + solution)
=N WB 56/5 Compounds with some and Doctor 6
L= any
=N WB 56/6 Special rules for some and Doctor &
), any
QX WB 48/5 Mediation/Listening
) (find 4 others and use the computer)

@?(

75/8 Scotland's national poet
(orally: you do the first half [until *(do)"] and

your partner checks with solution, then swap!)

@?(

75/9 Word power: New words

(check if your partner knows 20 words of units

3+4, then swap!)




Sums ©) (W) (B)

72T)

Now calculate: C+W+B=T (Example: You have 45C, 24Wand 3B =72

Then calculate: C:T=X YOUR X:

Your X is between

1,00 - 0,85 Perfect! You know it by heart!

0,84 - 0,70 Good job! You’ve only got a few mistakes!

0,69 - 0,60 You did alright, but you could be better!

0,59 - 0,50 You should try to improve yourself! You have to revise more!
0,49 - 0,00 You have to work harder! Learn the contents of unit 1+2 again!

Also revise the years 6-7!




